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IMPORTANT INSTRUCTIONS

This Question Booklet is divided into three Parts—Part—I, Part—I| and Part—IIl. Part—| contains questions of
Language (Qualifying), Part—II contains questions of General Studies and Part —I11 contains questions of
Mathematics.

Part—I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English L anguage consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
L anguage consists of Question Nos. U-9to U-30 and Bengali L anguage consists of Question Nos. B-9 to
B-30 (Students are required to choose the questions from any one language out of three languages). Part-I1
consists of Question Nos. 31to 70 and Part-111 consists of Question Nos. 71 to 150. (the questions and their
responses are printed in English and Hindi versions both of Part-11 and Part-111)

All questions carry equal marks.

AnAnswer Sheet has been supplied inside the Question Booklet to mark the answers. You must writeyour Roll
Number and other particularsin thespaceprovided in theAnswer Sheet, failing which your Answer Sheet will
not beevaluated.

Immediately after commencement of theexamination, you should check up your Question Booklet and attached
answer sheet and ensurethat the Question Booklet Seriesisprinted on thetop right-hand cor ner of the Bookl et
and the seriesencoded in answer sheet are same. Also please check that the Booklet contains48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet havedifferent series. If you find any defect
inthisBooklet, get it replaced immediately by a complete Booklet with OM R sheet of the same series.

You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there are five circles- (&), B), (©, (D) and (E) against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
guestion. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated aswrong. Use Black/Blueink ballpoint pen only to
mark theanswer in the Answer Sheet. Any erasureor changeisnot allowed.

If thereisany sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
guestions, the English Version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet tothelnvigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.

E-1. Whyis Kerala just the place for you if you

love variety ?
(A) There is something here to please
everyone

(B) Kerala has magical backwaters
(C) Keralais veryboring

(D) More than one of the above
(E) None ofthe above

E-2. Why should you take a trip to the spice

gardens in the hills ?
(A) To count the spices that are grown
there

(B) Tobuysome spices

(C) To inhale the fragrance of fresh
cardamoms

(D) More than one of the above
(E) None ofthe above
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E-3. Whatis Kerala's cuisine known for ?
(A) Forits bad taste
(B) Forbeing bland
(C) Foritsspicy hot flavours
(D) More than one of the above
(E) None ofthe above

E-4. What gives sea food its pungency?
(A) Coconutand spices
(B) Coconut & spices enhanced by
tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None ofthe above

E-5. 'Why would foreign bargain-hunter visitors

never face a problem in Kerala ?

(A) Many foreign languages are spoken
in Kerala

(B) Hindi is the language of
communication in the cities of kerala.

(C) English is spoken and understood
everywhere in Kerala.

(D) More than one of the above

(E) None ofthe above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a', 'an', and 'the":
E-6. Ifyoureach Airport on time, you will

catch the ﬂigT
(A) a

(B) an

(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Youshould go for early morning walk.
(A) the
B) a
(€) an

(D) More than one of the above
(E) None ofthe above

E-8. If 30™ April is Tuesday, what day of the
week would be 10t May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None ofthe above
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(Hindi Language)

frafafea smfea o & onem )y €. H-9
| H-14 9% & J9i & SW & 9. |

T 3R T T § TR & B 9 | WA T o 3R
T G | To T g oft uea | o ot | |t Peren
I STAER A A T A | 39k Forodia srer siga ewe
o1 | e & Feet Weld—ghed 3R aganft # aifew m
TG o1 | T 3R 31w faeht drea 9 | gaferu @ e
! ITTBT BT o oh o0 TeArg 2 ot | 31T rerent hi
T T AT AT | Teh IR {04 § TS gieht 311" WRT @1
o1 | T A ISRt 31T hl UehAT <TRT | 3 8 § Teh HIeX
& e ag i |

H-9. 7 SreeRt 3113 i ot ekl mel ?
(A) YO ST | R I A1
(B) ¥ 3iR 3T1a U & Whet ° Ugd A
(C) Uk aRIGA | TR I ST TR TgT ot
(D) ude & U A aAfeew
() Swdam & e

H-10. T 3 Tl A3 B T o o1 T TeATg ol
aqr ?

(A) Tocht 3 g & R0
(B) T TRt H UG & hrewt
(C) W3 w0

(D) T it & v o
(B) Sudsd & =g 7

H-11. WA= ?
(A) &
(B) Ueidaw
(C) wwzER
(D) Iugea @ Uk @ aiitrn
(E) Swder o & g el
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H-12. @ 3R 319 Saa d = 9 ?

(A)

B)

©)

(D)
E)

s

Tt e

g

Iuge | € T | A

SUYer WA HE TE

H-13. @it iegreh W 8 RN @ @a 2 ?

(A)
B)
©)
(D)
E)

T <ht e o HROT
T o URerHt g R0
T o STAER o HRUT
Suger | A U A e

SUYer WA HE TE

H-14. 33 fora M # 31fees 79 emar o ?

(A)

B)

©)

(D)
E)

e
wgd
dreid
S 8 9 v @ aiferh

SUYer | A A TE
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fr=feRaa orafsa werwr & omaR W W €. H-15

A H-20 9 & Uwt & W A SRt |

forarsit wa o wEr R H | U 9 | S 32y WERn
A9 % 3299 | off 3= A1 | I AU HE 9 @ 1S
SheTel AR €1 T8, Sfe<h Ueh 3Te0 ToHITaR it & | 32 wt
T ek T <Y T IR & SR TRreT T T i | 3
FR 775 A A ofi TR o o IR FER o SR FA A |
3Tk 3T TUT 3 HRUT At T ITHT SR FA A | TH

At 3k Sitam | e o =nfzu |
H-15. s SR gn & @ iR g ?

(A)
(B)
©
(D)
(E)

Teh 378 TS

g fommen

FITA HHIE

S 4 T
SugeR A i T

H-16. TraTsh 3 & § hiq € Hiamn wd ?

(A)
(B)
©
(D)
(E)

g @

T Ty

Fan
TR 8 & T @ ot
SR 8 6 g T

H-17. REcidR ?

(A)
(B)
©)
(D)
(E)

WA T ISR gl
WA & g A 4 & U
AT <l HETH A1
Sugerd § @ U W SRR
TG § A R T
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H-18. i Prarsh st siret i shid & ?
(A) 3R e S HwRT
(B) wRREgEIHHR®
(C) 3% 3T<S TUIl o HROT
(D) Sudwd AT A Al
(B) Sudwd & =g 7

H-19. T3 TeHifas 91eg ot 312 ¢ -
(A) =g Hifa e v = deer g g
(B) =g ifa o v w6t weme gran @
(C)  Towhfa & wvafm i
(D) Suger d € T | 3iferh
(E) Sudwd & =g 7

H-20. =70 srafda et < e 2 -
(A) ForarhHimia e
(B) Trash =t St
(C) Tomash o wEmm
(D) Suger d € T § itk
(E) Suder & g T

H-21. 37 safharas @ 8 -
(A) &
(B) wm
(C) w=aA
(D) Sudew AUk A Al
(E) Sudwd & = T

H-22. 37 3A0Ysy qeAm § -
A) #
B) 1
C) ==
(D) 3o & A0 A arfeen
(E) Suder® & g &
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H-23. ‘oM Wi T8 o | arer § fore wnen it o H-27. s yg o g -

TR ? (A) ek oh s

(B) SR B) s

(B)  werere (C) =1z R 3ve T e e 2

OREL b (D) v A v @ s

(D) THFHA TR S ) vEmEdSEd

(B) Sudsd & =g T

H-28. 39 W1’ 91eg <l A= TeE & —

H-24. @9 acan vise @ - (A) e

&) == B) s

B) = (C) wurt

(C) < (D) Suder & & U A s

(D) Iude 8 U @ Al (B) Sudsd & =g 7

(B) Suger & & hig &

H-29. ‘i@l «im &1 fie g’ areaEvs & e v

H-25. s yg s & - = -
(A) St (A) Wem
B s (B) www
© e ©)
(D) v s s (D) THTHAE A
€ semiadi (E) Suderd @ i

H-30. ‘@erRE #ugAr WAL -
H-26. 37 ‘Scpe’ vIeg o1 faudianeer v1eg @ - T

@) fg (A) FEAHTS
a;q (B) < fern
GZ) o (C) T amm
(a); e @ (D) Sudwa# W uF | AR
TS
(E) Suderd & i T
(E) Suded & i T

ElEE
13/HV/M-2024-13/HS-513-E 5 E,‘%. [P.T.O.



(Urdu Language)

2 pe gl 1 dntde A d Se kL
SELUF e et Gt 1302 gt

P S TR U
cLHSUFE Ue e Gl S
sl FU e et e 55 G
Sl Lol oA

ST Tl e Pt i U - e (s
e Sre JF

0ol LT S
LLuiz (A
LLul: B

LLuf (O
e gl & gite” (D)
S e (B

IS UAS T Fe T
S g
£ @)
o’ (B
uéf,;: ©)

Sie K Jille? (D)
S Uil ()

K g B e U 0
oW
Je @A)

S ®)

Ze(©)

Sie K Jelle? (D)
S Uil ()

Wi rtutu' Fe 2
PN
- (B)

£ ©

S Ll Sl (D)
S Ui (®)
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.U-11

U-12

.U-13

.U-14

ST T e S

SEEUTs AL U Fee S
e ﬁ”f@faj,//,t;ﬁid/uw@u%wdg
Sk E S e fe Ui dE
! (Zl/,l,,g,c{,;b’,«wﬁué‘(ﬁ@ﬁ,{:«"w_‘gﬂjl

& Lt U Ee

£z (A)
= (B
% 1 ©

e L JiUe” (D)
S s (B

VLA S
K (A

§fe2 2 (B)

K G (O

e L SV (D)
S e (®)

[
[&] %

.U-9

.U-10



ITLL(E}G'@:C;J‘/&}JTU:M
cunE o Uik (A
=dSl  (B)

= lndle  (C)

Sie K Jille? (D)
S it (B

°u§LbL}W:LdQJK;j;f
Lue (A

Loiky (B

Zlt  (©

S Ll il (D)
S st (B

Pould O Susid syl
?u;&@n

Uil (A)

uilt  (B)

U#F (O
S Ll Jile? (D)
S e (B

frd VUQ(UUDH&.}”
i (A
Ji (B)

()
e Ke Jolher? (D)
e e (B

fe L/u;’/( 19 Jn 5
NN

o7 (B)
JE (O

Sie K Jille” (D)
S st (B
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U-17

.U-18

.U-19

U-20

.U-21

,ugd/,/ej.éu@:;m:fdmuﬁm&g:w

e Qi U Us gote Sty il i
S U b g 2 S
e Lz s S Wl 2l

L /»Jf’uﬁww:f,@wu%uué'z_uit;/b/

—UZ&:.’/

Ve AL L e e e A
3L Z Ul b3S Esead T A

Ul bl AU b P K
SASUL eI I A Gt SE
9 T8l Qe ot Ui U
/5'JA(JU}3t_‘Lt'lgn

e $nAUL L =50 U-15

/’chgcuﬁﬂl,b,v’
ATy

(A)
(B)
©
(D)
(E)

AU Zule el S ol U-16

e g

diwﬁ’l,

diwl?.g

c'_u,{}d‘_

/’qug = e’

He e
oNE

i

(A)
(B)
©
(D)
(E)

[P.T.O.



?‘LLJ/J;U.:‘;!;'K"ﬁ "
oUl (A)
G B
T ()

M K Sl (D)
S St (B

fe I UL s
=l  (A)

<t (B

~ (©

A K Sl (D)
S s (B

S e A I 5
g A
E (B

g (©
S Ll e (D)
S s (B

e WG S st
SN

W B

Uk (C)

S Ll Sl (D)
S s (B
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U-27

.U-28

.U-29

.U-30

ez by g el T U2

?‘L l.{(

=2 (A)

A B

S ©

Sie L J2ie” (D)

HYe S (®)

LWz d s L

. v

VSRV

= (B)

S ©

e L Sl (D)

S St (B

fe e p Lot s

SN

S (B)

o’ (O

e L SV (D)

et (®)
?“édu' t’%f!ﬁ S U:Ll5@/}

A EE AL (A

<deEUELLL (B)

eV (©

Sie L 2l (D)

S S (®)

S I GBS A e

U @)

Usf (B)

A2 ()

e L S (D)

e e (®)

EI=E
=] %

.U-23

.U-24

U-25

.U-26



(Bengali Language)

e (B-9 (3t B-14)

TR Aot A2y e A6, [FE @1 @il
2300 I #Ale, Sz oves fee a1 | fofd e gl
oo, @ wife gzl 23xifece, 2 #[iE «@3g
TS <4 58, SRl 772 2281 Al | (1] @ i #1123,
Trol (<12 e ToifFe 236 | @5Te TR [eie 2309
kAW NPT ‘@, 2R (R Srse ©iid «ics forifs
A[BNCR; TS SI1wie 777l 712 2ile 2303w, eAieces
B (e AiZCa @R Fof SmisIces 225! 213 |
FAIIL G SR ATHF FBCHCHT T fzar, fofe
TR B AW S AN A FOICH TR 230 |
AW S, T wiREet axee Afere aifae |

TS TR el SRR PN AFCP AT,
“@ 2l [RICE, wiRIte (ost e 6 2303 2 SieME
«Q I S SN I 230 1 | S ST
23AMZ | O SN §3 72 (T, JLRAN O SR
aereorial T T O A (F T 2 (7 AT, ORI @
e (& T IR (T AN T | el
SR G2 @S DI S G0 ol MSa-arate
I IR 0L BRI |7

I AR B e @ @3 fofd qamida
forera 7 fetaw | AR ot misiew 23ce, fofq
AR et Alemifetem @, T faw [ weE
feovife #i7, Sww: ww e coiEl SRl SiE 92
ST F9, M AN WO IO (ONE AR |
AT e OIRTS TFFe! &AMt | AR
M A g v i sy <¥fcs wifeeem | “siw
Qs 5 FTS N2 230 BIfRA 7124 | G230l
Tl 1 Afern FiRIAR Sl (7 ARRY &2t SRl
2B | FHHAFACES Wil 22 SR 22w 8+
i &7 |

F A e JRTS AT Fi2 ([, St
et el 2B | vl (e SR ST
e 2305 | SR AR o], TEHCF SR IR
foml pifererzd, (T e Feq 230, A0,
‘e it e, S & R 2 st a1 e,
oI ©lRlE FRE 17
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AT e AfeTEw, oy v, e
1A 3ZeT | e ST 20O T Wwtad g2l
T o 23300g; Sredd AT @F NS A
SfEIfF 2303 | Sl OIRIE @RE, Do S
B OIZICE T SR, G2 S o1 | iisifer @2 i
FeE Ffcers fil e wface 21 1”

N G A, SN SN2 @0 *iofel
Ffacely, S FGANCE Ao FU Af4F Tg I |
I AR @ A F2A; SAioife ey T 17

SR FAT T SR | SRE G A ww Smea
GG SFIeE T @l e | 2 @R s AR
FfATeT, 3 = Fifocae =1 | I A SRS [/
TR S IR (F, G0 S 902 5o | 2T
U WL 2ZCE SR | TN o (T S2F,
(1 MR To- e MRWREN ORI (2 20 bt
2 | @FCel SF w12, oI W (T SRFNE T2 |
el ol BT e 230 | FNL A, A @
SR SIS TRCY FS=Ca 127 (oICe |

fofq Afewe Ao Diewt sz e
TSI G T 239 A, SEUcae OiRid Yy 234 |

ToRE A F AF AREACE O
Toifere wE meRiRce | e kR qifermt aferat
SIRICE e ABITe @ ARFCS Weer =1, So 922
AR | FCAFT AR, AT THfe (@5 =@
SACER S SN Gy TG AR, T8 i
I e S, ifi TR s Torm FR9,
I FGIReN Tovd SR = | FIMLIRAIFH GFHCE
IS AL T 230e | FIMRIG TR AR
T5{feq TQRE FRCS A0 |

Jife A ez | e S I TarecE
(IS AETRANE ©I2F @3 foe | fofd fKitapa s @,
AN @z erereife @t fres, wifs o W 363,
OGS (FZ OIZ 13 | TOdF T0I LI, TR [eawa
Sz R4z T 2309, O OigR KA 7)1 92w o7
Tl 13 | 92 eI I 1] FiFiaR [aites
(I STiel 71 RN, ORI Sesnte! RS TR |
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B-10.

B-11.

R el (& g2t 23 ifRce 2

(A)
B)
©)
(D)
E)

O SRy I e
SRl (RE [ 71 2e
THARTE SR W0 GG (AT S

FIFIL A (T AN O FOIF Ttz
230E 2

(A)
B)
©)
(D)
E)

M Keites 2w e

AW SIS

fofseatiz oo

THCS R WK G (AT &S

AT el FAINLY A7 I [ o
IRt 2

(A)
(B)
©
(D)
(E)

I A2y

A g el

ol =zl

THCS R WK G (AT A&
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B-12. =712 I (F AR [{c2g Sowial 1
FER ORI S TR 2

B-13.

B-14.

(A)
(B)
©)
(D)
(E)

I el fee
THge g Al el
THARCSSfeT WL G (AT K

JIRE NS (o LI A 902 =
FACO O B2 ?

(A)
(B)
©)
(D)
(E)

iRe nifvw w26

BIRIRIBIEAC DI

fofseatia way

THCS R WK G (AT A&

FIARIIIL A @ AT TG g
e sface sface ¢

(A)
(B)
(©

(D)
E)

DI MR LA
RN SR

TR FGII T FRC = R
RIER)

THifaCeafled M0y O (ATF IS

%ﬁ



2Rt (B-15 (4t B-20)

fe Ffeer—aeg s IFCelR, SN (o WA @
S FEAZ |

S FfeAT— W, S-S B I (ORI
ST 30 A1 2

e et —7 B9 7ol wiw @ g sive
[ N O €OIF S2R_TE MiRTe AT

A S g qeARd "eT [l oS
Rl Ffee—eael, ggfon W9 @R (ORI VA
COI-G] 2T [Z | 22 (Y A T DA (R
CSINITRE SIFCaa 24l s[eilfy |

e wfew ot e —odfie A== Tred
TP F(F ORIAR SNE ©F |

A SR — e Aol ool JRITE, Fee
GF] A (e TS 27 | SR oMo IO
Aelfe wam Aye godid Y OF CRIRTS 3w
AE GF6! GFE 2T Tofurad s ¢ I @
a5 2E FIRETR, O (ORI F/EE 15 FEAR|
oI oiE G efees i il Fifliafy, @
Ao SRS FCEN O AT FA-SINF T SI=0!
ORIt AREE 2307 |

S AT F2ET— (T ©fF AN, (7745
3R A ([ TE (1Z003 FelfRE F=0R=E-gf¥ 2val
JferaE Afes =1l | (@ AT Afee waalfd e core |
foe wxaif wfn wifamgss Sifgpcia St Gi-2E JoreR
SIS FIAT 2€ T O (6! (O (1 Freifs
R NCAIZIACH FT T 1 | (FTF =R IO (518
@izl eI, ST | (2 BRI, AT e
12 R4 39, (T S-S CISEFF (G, S
B R AT (TR 5 237 G N |

(I G0! 772 e (6B SR, FRFA—aF
(O 5 WCLE %, O THH AIFAH 2306 FIOR
AT T 2 AL RTwoF |
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ife sfze—aibrR o 13l Ior wr ada fF;
3oy 2Nl SEaTeT Wk AreFils SHe SR FRre
237 | o @ Sorw (Frewere e | 2bie
TIPS FfeeT—CT! HIcFR AeRMR; SN 96! 915
A #AfSrore—

(o PEe — (ORI AN ETRIGI Bie =7 wfice

it M (rfcef® | 799, O AATT!, TR0 AR AT
A

(TefFAR SNMC*R [Reeta (2 S Sieife Ffe
T G-, T FFE oeTtea ©eim 23te TR
it #iifSa wifaer vz fore Waig esiitem el
TS 23| PRI AT |

T ARGTS e —JACE 4y 237 AT AT T
AR F2re W, G2 foord foera SIwal Giois
@RS SAf7 711 5= SR S SoF 7, %
ST FOI[ A2 (T, SN A3 Fgres @1 75l
fafera ffran aifscs siica =11 51l fA6HRG w7, ol
W, THATH T A, AT FICS2 THOFA I | (7

o7ist RIS Fo, ORI SITARPING K2l |

B-15. 7w re, aFfer v @ Fl 20z
(A)
B)
©)
D)
E)

NG

e

SRRl

THARCS ST N AL (AP &

B-16. AR 3o, 20T BI QI O WA ALY

3 2TV SR ?
(A)
B)
©)
D)
(E)

CRICA &ren (1

femileT &cen

AR ATen

THARCS ST N AL (AP ST



B-17. e (3 237 LI SRR (1T A 11 2

B-18.

B-19.

B-20.

(A)
(B)
©
(D)
(E)

5 IO @IF G AT AP ol

RERICRCERRA]

OlF eI FIC

OIS B FICA

TS E T N0 G (AT LT

PLACR ?

(A)
(B)
(©)
(D)
(E)

Froifi qag Fsjef

EKISISERCERC |

eI @ Srjef

TARCS SR A G (A ST

IR ~AfRRICR I 7 Fi e

(A)
(B)
(©
(D)
(E)

BEISERET
AJCHS =T

IHY G GACHA IHA

TARGS SR T G (A S

AN T, NCF FO I 2

(A)
(B)
(©
(D)
(E)

TR

GRS G2 TR

AN IR SHATIES

TARTE SR N0 GG (AT W&
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B-21.

B-22.

B-23.

B-24.

“.... 31 prel &7 fresiE (rRrEite e e 17
B FHAIET AAfFere FaCeT 27—

(A) (ORI FENSMT (R SN0 S e
KIS

(B) T 9o STiA fTerona =i=iig e
=

(C) I &1 wet &t et faca =i
(D) THCE e My G (AP TP
(B) Totad @itaife «

“ . ARCEE (@ TAFAL...” (@RifEe omfba
I feefar e |

(A) T35F I0T (@ LAIF; TLGATCEN A A |

B) @A (TeeR) e @ A (99);
ffsre sesj

(C) (RT3 <I; 79T O

(D) THRCE sl M G (AP TP

(BE) TR (RICAiE w3

‘...Ccomzeefe A AT e AeF 1 QAT TAE
G (I (105 2o 2007 2

(A) e

(B)  HEH

(C) ok @R Bl TeAfers

(D) THCE sl A G (AP TP
(B) THER (@Itag <

AR *%(G (P SIS ?
(A) f&
B) b

(C) o () @ <l (TR widie
TP *H

(D) CofaCeafer Ata G (AP SKH
(B) ©otd (I8 1

%ﬁ



B-25. GRGIE AGR (OB A HICT A | (@LifEe B-28. “GR1-siAl I 401" —GR-SiR *=io resife

mod FET ¢ Keofe 21— fojefar aeeT |
(A) i T Refe (A) GRawAl el (e TwE) [weAe
ECiER]

B) TR TR B) S e oml (5%)

(©) TR ISer (C) GRCTa OFI (T% O[T
(D) ToRSeulem My G (A0F TS (D) ofTTefn T Q@ (@ S
(B) Totad @ieaioe 1w (E) Toiad @iebE @

B-29. “foaf¥a 33 99, 2 @, G- 2”7

B-26. oa (@G (PIFam -9 T 73 2
— G- (I T2

(A) Teom
A) IR “@” fFrefe
(B) =m=t
B) iz FCF “9” [efE
©) o (C) TR “9@” [efe
(D) THAfCEafer e G (U v (D) TrRCwulm T G (A ST
(E) Toite (e wma (BE) Toitza @ieaifoz am

. B-30. % < O INFIPH
B-27. 2RI < 2N G R AR (i e SR ol ©

% A AR @ B e
A) =S @A) Rew
B) wffRRRe B) ==
(C) Tl < R (©) R

(D) ToRCSSR ey G (AT H
(B) Totaa @ieaifoe o

(D) ToRCeSR Ty G (AT F

(B) Totaa @iaifbe o

ElEE
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31.

32.

33.

34.

35.

PART - 11

(GENERAL STUDIES)

Which of the following is the value of

(x+1/x)* ?

(A) x>+ 1/x°

B) x*—1/x?

©) x¥*+1x* +1

(D) More than one of the above
(E) None ofthe above

An article is at 10% more than the CP. If
discount of 10% is allowed then which of the

followingis right ?
(A) 1%gain

B) 1%]loss

(C) nogainno loss

More than one of the above
None of the above

D)
()

By what number should 81 be divided to get
a perfect cube ?

A) 3

B) 6

<© 7

(D) More than one of the above
(E) None ofthe above

The difference between two whole numbers
1s 66. The ratio of the two numbers is 2:5.
The two numbers are ;

(A) 60and6

(B) 100 and 33

(C) 110and44

(D) More than one of the above
(E) None ofthe above

In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.

(A) 30°

B) 45°

(C) o60°

(D) More than one of the above
(E) None ofthe above
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14

36.

37.

38.

39.

40.

The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm? s :

(A) 15cm

B) 17cm

(C) 19cm

(D) More than one of the above
(E) None ofthe above

If (3)"*! x (=3)°=(-3)’, then the value of m
is:
(A) 5

® 7
© 1
(D) More than one of the above

(E) None ofthe above

Ifx and y are inversely proportional, then:
(A) y/x=constant

(B) xy=constant

(C) x/y=constant

(D) More than one of the above

(E) None ofthe above

A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combinationis R, thentheratioR/R'is

(A) 1725

B) 1/5

(©) 25

(D) More than one of the above
(E) None ofthe above

An electric heater of resistance 8 QQ draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) More than one of the above
(E) None ofthe above

%ﬁ



31.

32.

33.

34.

3s.

PART - 11

(GENERAL STUDIES)

fFrafaRea @ @ S A (x+1/x)2 wAARE ?
(A) x>+ 1/x°

B) x*—1/?

©C) x¥*+1/x* +1

(D) 3o & A0 A arfeen

(B) S awe i

Teh i@ €1t & 10% 3tferes W g | 3t 10%
Qe ol IgAfa & Al Frefefea A a s aadi @ 2
(A) 1%

B) 1%zf

(C) FAcmuag

(D) 3o & A0 A arfeen

(B) Sudwd & =g 7

qui o ITe A 3 fore 8 1 <Rt ok ween @ fernfsra
forn ST =nfRu 2

A) 3

B) 6

<© 7

(D) Sudw AU A Aferes

(E) Suder® & g &

31 qui GEE % e ot 3T 66 B | 3F1 aem
1 U 2:5 3 | i TEAmi §

(A) 6036

(B) 100 3w 33

(C) 110 s 44

(D) Suger d € T W 3iferh

(E) Suder® & g &

Tk TR Tgs ABCD #, %ot A 3iR shiut B
31U 1:2 2 | hiut A 71 <hifeTe |

(A) 30°

(B) 45°

(C) 60°

(D) Suger d € T | 3iferh

(B) S a e
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36.

37.

38.

39.

40.

T S S ekt Breen 7 @t @ st e
g gheT 968 AT R

(A) 153

(B) 17

(C) 193w

(D) 3o & A0 A arfeen

(E) Suderd & whig &

R (3)! x (-3)° = (3), A m A AR E?
(A) 5

B) 7

© 1

(D) Suda ® 8 TE A HAfeew

(B)  3wder o & g T

e x 3 y SR &, :
(A)  y/x=Teeris

(B) xy="Torm=

(C) x/y="Teeri®

(D) Suge @ AT A ek
(B) Sudwd & = T

uferier R ok forelt R o6 gehs oiel sRIeR Wi o e
A E | 39 geRel ot R ured shu | w3
£ | afe weem i gea gfedier R' 2 4t R/R' ™
A FIERT ?

(A) 125

B) 1/5

(C) 25

(D) 3o & A0 A arfeen

(B) Suger # 8 hrg

8 Q uferer =1 g ferega i frga A w2 w2
ah 1 5A Toregaem s 2 | et # seam ss R R
Fn Rt 7

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) ude & U A Afew
(B) Sudwd @ =i T
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41.

42.

43.

44.

45.

Which of the following lenses would you
prefer to use while reading small letters found
in the dictionary ?

(A) Aconvex lens of 50 cm

(B) A concave lens of 50 cm
(C) Aconcavelensof5cm

(D) More than one of the above
(E) None ofthe above

The human eye forms the image of an object
atits

(A) Cornea

(B) Iris

(C) Retina

(D) More than one of the above
(E) None ofthe above

Which of the following is not a part of the
female reproductive system in human beings ?

(A) Ovary

(B) Uterus

(C) Vasdeferens

(D) More than one of the above
(E) None ofthe above

The anther contains

(A) Sepals

(B) Ovules

(C) Pollen grains

(D) More than one of the above
(E) None ofthe above

Asexual reproduction takes place through
budding in

(A) Amoeba

(B) Yeast

(C) Plasmodium

(D) More than one of the above
(E) None ofthe above
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46.

47.

48.

49.

50.

Which one of the following types of medicines
used for treating indigestion ?

(A) Antibiotic

(B) Antacid

(C) Analgesic

(D) More than one of the above
(E) None ofthe above

The task of processing citizenship applications
under the CAA will be undertaken by

(A) Postal Department

(B) Census Department

(C) Central Security IB

(D) More than one of the above
(E) None ofthe above

In which of the following country India
launched its UPI ?

(A) Thailand

(B) Myanmar

(C) Mauritius

(D) More than one of the above
(E) None ofthe above

What is the name of space craft to be
launched by ISRO in 2024 to carry
astronauts ?

(A) Akashyan

(B) Gaganyan

(C) Bhramyan

(D) More than one of the above
(E) None ofthe above

Which country is not a member of G 7 ?
(A) Russia

(B) Canada

(C) USA

(D) More than one of the above
(E) None ofthe above

%ﬁ



41.

42.

43.

44.

45.

Tereht vregenia ® for@ B2 31arl <l ugd |H g
= 7 A A e TEe w7

(A) 50 cm wiHE gl 1 ITA

(B) 50 cm wieHH gh w1 AR T

(C) 5 cm wishA gl 1 FTEAA

(D) 3o & A 0 A arfeen

(E) Sudwd & =g 7

Frferiaa ® © Tohe R W fohelt areg 1 Sfeitena
TEE ?

(A)

(B) uftaem

(C) grRuew

(D) Sudw | TR A Afw

() Swdwdawe

e da SR A SR T R AT AE g ?
(A) st o
(B) wwive

(C) yprenieet

(D) Sudw AU A Aferes

(B) Suger & 8 hrg T

(C) TR
(D) 3o & A U A arfeen
(E)  vofer & & g i

STATITR T Ghet- gRT gl 8
(A) orfen#

(B) dred

(C) wremfzamd

(D) 3o & A 0 A arfeen
(B) Suger # 8 hrg T
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46.

47.

48.

49.

50.

AU o TSR A o foTu fnm o | ferm aitafarem
ST AT R ?

(A) ufasferes

(B) ufdsra

(C) diserd

(D) 3o & A0 A arfern

(E) Suderd & g &

CAA & 1=t AnTiehan fskan o fote smaega ek
Freuren form o gt feman SR 2

(A) s favmgR

(B) <o fasm gr

(C) <hsiageen .. gr

(D) Sudew AUk A Al

(B) Suger # & hig &

e o @ form 3o @ wra A 3o UPT =i ferem
27

(A) uEeE

(B) wmwr

(C) wwm

(D) Sude AUk A Al

(B) Suger # & hig &

T g 2024 ¥ siaker At Afga 99 ae
STANEHT 1 AW 3

(A) ITRTEE

(B) wWHIW

(C) seEm

(D) Sudewd AT A Aferes

(B) Sudwd & =g 7

FMWMG T W EATETE R ?
(A) T

(B) @

(C) 3Tz

(D) Sudw AU A Aferes
(E) suger & whis T8
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51.

52.

53.

54.

55S.

56.

The process involved in achieving Green

hydrogen is

(A) Electrolysis

(B) Dehydrogenesis

(C) Dehydration

(D) More than one of the above
(E) None ofthe above

Which technology can be used to revise
deceased individuals ?

(A) Deepfake

B) Al

(C) Chatbot

(D) More than one of the above
(E) None ofthe above

In cost of living index parameter 2024 which
country is better than India ?

(A) Nigeria

(B) Pakistan

(C) Bangladesh

(D) More than one of the above
(E) None ofthe above

Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?

(A) BirsaMunda

(B) RajendraPrasad

(C) SatyaNarayan Sinha

(D) More than one of the above
(E) None ofthe above

Which is the moon-like planet ?
(A) Mercury

(B) Mars

(C) Earth

(D) More than one of the above
(E) None ofthe above

On the basis of fossils which is the origin place
of man ?

(A) RiftvalleyofAfrica

(B) Central Asia

(C) Jerusalem

(D) More than one of the above
(E) None ofthe above
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57.

58.

59.

60.

61.

62.

In India dry point settlement is found in

(A) Flood prone area

(B) Bikaner

(C) Aravaliregion

(D) More than one of the above

(E) None ofthe above

In which district of Bihar Paddy crop
production is maximum ?

(A) Bhojpur

(B) Rohtas

(C) Nalanda

(D) More than one of the above

(E) None ofthe above

On which mountain is Tehran situated ?
(A) Alburz

(B) Zagros

(C) Makran

(D) More than one of the above

(E) None ofthe above

The highest peak in the Eastern Ghats of India
is:

)

Anai Mudi
(B) Kanchenjunga
(C) Mahendragiri
(D) More than one of the above
(E) None ofthe above

Which of these statements is not a valid reason
for the depletion of flora and fauna ?

(A) Agricultural expansion

(B) Large scale development projects
(C) Grazzing and fuel wood collection
(D) More than one of the above

(E) None ofthe above

Inwhich district of Bihar silk textile production
is maximum ?

(A) Madhubani

(B) Bhagalpur

(C) Aurangabad

(D) More than one of the above
(E) None ofthe above

%ﬁ



51.

52.

53.

54.

5S.

56.

R gEIgIeH I &1 i | AR ¢ ?
(A)  sorERTEtE

(B) <SrEgRHRE

(C) Fcieteo

(D) Sudwd AU A Afere

(E) Suder® & g &

1 H Tepten T S YRSHTe faen a8 2
(A) Sorm

(B) u am

(C) e

(D) Suger d | T W 3iferh

(B) Sudwd & =g 7

2024 3 Siifer Gk HTehet | hiF |1 391 WRd
Y ATHRE ?

(A) i

(B) Uik

(C) reTewt

(D) Sudw AU A Aferes

(B) Suger # & hig &

ferami & f2a | mefsht 3 1917 | =vura "geame
Toraer agama fomn an 2

(A) fowenguet

(B) g TER

(C) wemrE famg

(D) 3o & A0 A arfeen

(E) sugea @ g T8

TEHI AGYE U B ?
(A) T

(B) W

(C) uet

(D) Sude W UF | AfeH
(E) Suder®i A g &

SHETYH o HTR T A Icdi g hiA-HATE ?
(A) arshreRt < e arél

(B) weawivmEn

(C) <&Te™

(D) 3o & A0 A arfeen

(E) Suder®i A g &
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57.

58.

59.

60.

61.

62.

AT # yyeh foreg wreh fremeht 2
(A) e g d

(B) frwmd

(C) et wat

(D) Sudw AU A Aferes
(B) Suger # & hig &

forgr = form et ® e =t ScuTea Fanfares gl 2 2
(A) WS

(B) Tega™

(C) "=

(D) Suger d | T | 3iferh

(E) Suder® | g &

T fra vda m fem g 2
(A) veEs

(B) <wrw

(C) wwm=

(D) Sudw AU A Aferes
(B) Suger # & hig &

WA < i u1e hl ga@ S= =1 g -

(A) FEHE

(B) T

(C) wesfm

(D) 3o & A0 A arfeen

(E) Suderd & whig &

TR | HIA-HT HYA gt IR el <l e
YU HROTAG S ?

(A) Eg&ﬁﬁr«na

(B) Fee tuH W AsTIa o forem

(C) =g 3R AT il TAehgl i Ushefierur
(D) 3o o A0 A arfeen

(E) Suderdi & whig &

forgr o form et ® Yomdt o =kt IcuTea weTieeR
Trag ?

(A) g

(B) wmeTqR

(C) sirmamg

(D) 3o & A0 A arfeen

(E) Suderdi & g &
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63.

64.

65.

66.

Who was the viceroy of India during the

Jallianwala Bagh massacre ?

(A)
B)
©
(D)
E)

The first President of the Indian National

Lord Curzon

Lord Chelmsford

Lord Irwin

More than one of the above

None of the above

Congress was:

(A) Dadabhai Naoroji

(B) W.C. Bonnerjee

(C) Badruddin Tyabji

(D) More than one of the above
(E) None ofthe above

Who among the following is also known as

the Grand old man of India ?

(A)
B)
©
(D)
()

Which of the following movements was

Bal Gangadhar Tilak
Dadabhai Naoroji

Gopal Krishna Gokhale
More than one of the above

None of the above

started by M. K. Gandhi ?

(A)
B)
©)
(D)
E)

Quit India Movement

Non cooperation movement
Swadesi movement

More than one of the above

None of the above
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70.

20

Who was the leader of the Bardoli

Satyagraha ?

(A) Sardar Vallabhbhai Patel
(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above
(E) None ofthe above

Who among the following is not associated
with Home rule movement ?

(A)
(B)
©)
(D)
E)

Annie Besant

Bal Gangadhar Tilak
Sarojini Naidu

More than one of the above

None of the above

Who founded the Bihar provincial congress
committee in 1920 ?

(A)
(B)
©)
(D)
E)

Dr. Rajendra Prasad
Anugrah Narayan Sinha

Jai Prakash Narayan

More than one of the above

None of the above

The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership

of :
(A)
B)
©)
D)
(E)

Dr. Rajendra Prasad

Jai Prakash Narayan

Swami Sahajanand Saraswati
More than one of the above

None of the above
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63.

64.

6S.

66.

HAfAITATA ST IS h SR WRA T STHETT S
qr ?

(A)
(B)
©
(D)
(E)

s
TS ST

S e

S it A T &
o A A T

AR T I & Tget ieaer 9 -
(A) e RS

(B) ==, ®. Al

(C) =eEan deaastt

(D) Sudw AT A Afre
() SwdwdawE

Frataftaa & @ foraent “fug sitee &7 sw sfear’
F Y TS ?

(A)
(B)
©)
(D)
(E)

e TER foeTeh
EERERIE]
TITE ST TG
Suger | A Uk A sifern
SugeR A A R A

FraforRaa # & %A | 31igeH T, &.TTEh gR s
e ?

(A) WRABIS! R

(B) @A e

(C) eyt argrerm

(D) s # @ wh A afrs
(B) Sudwd & =g 7
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67.

68.

69.

70.

TG TR Tl el i AT ?
(A) TERTGH WIS wee
(B) s TmeR foeren

©)
(D)
(E)

AT ATA A6
Suderd | | U W Afeen
ERREER R

Frafeien # | ®F W & STigeH | arag TE
ar ?

(A)
(B)
©
(D)
(E)

o fawie

A TR Feieteh
RAERIRLCH
Iuger | ® U | I
IR H A T

oREm 1920 3.  forgR TIGToTeR shitkd SRSl hi T
ot ?

(A) =TSR R

(B) ey v fern
(C) STIHIIT ARTIOT

(D) Sudew AT A Afre
(B) Sudwd & = T

1936 # stftaet e foram | (T, 318, . )
& worrorT fargr # ferereh A ® g3 oft ?

(A) =i T TR

(B) T SRS ARI0T

(C) o Tg=Ig wEad

(D) Suger d | T | 3iferh
(B) Sudw A A e
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PART - 111

(MATHEMATICS)
71. If Aisanysquare matrix, then A+A'is always 74. The vectors (1,0,0),(0,1,-1)and (0, 1,2)
are

A) Symmetric
) (A) Linearly Dependent
(B)  Anti Symmetric (B) Linearly Independent
(C) AntiHermitian (C) Notconfirm
(D) More than one of the above (D) More than one of the above
() None ofthe above (E) None ofthe above

2 00

) 75. The value of determinants A; =3 4 0
72. IfA,,, and B, areanytwo matrices and

5 6 8
their product defineas A, - B, = C,iy
then which one is true 4 4 8

and A, =|0 8 2| then which option is

(A) n<p 0 0 2
B) n>p correct
(€ n=p (A) A >A,
(D) More than one of the above B) A <A,
E) None ofthe above
® © A=A,

(D) More than one of the above

1 2 (E) None ofthe above
73. IfA= | ,thenthe value of AZ—2A+21
is equal to 76. Set of square matrices of same order fallows
A) 1 following laws
(A) Associate law
®B) O
(B) Identifylaw
<) - .
(C) Commutative law
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

[=]Z =]
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71.

72.

73.

PART - 111

(MATHEMATICS)

afe ATH T R R, T A+ A’ Fft
(A) wwfE

B) forew wwfim

(C) Frwm g

(D) Suge A T A ferh

(E) vogemd & g =

ag A, IR B, g T SR AT TR

TR A, B ey = Cpxg AORAINGE, T T
g

(A)
(B)
©)
(D)
(E)

n<p

n>p

n=p

S & T A o
IUY W H B TR

aﬁA{_ll ﬂqaﬁana{g%aaAz—ZAJrzl
HAAE -

(A) 1

B O

) I

(D) Iwde A TH A e

(B) Swded & g T
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74.

75.

76.

afzw (1,0, 0), (0, 1,-1) 3R (0, 1,2) ®
(A) THETAd WA=

(B) UeHETad T

(C) Wivam @

(D) Suge A T A aferh

(E) Sugerd & =g T

2 00
3 40
5 6 8

WRUTERI ® A A = aun

4 4 8
08 2
00 2

e g
(A)

Ay = 2 79 f= & & 9 @ frweu

A > A,
(B)
(©)

(D) o i & T & e
(E) 3ugs @ s T8

Al <A,

T 3 o 1 TR B aead, e fem
T YT 8 2

(A) wred fram

(B) e fem

(C) s v fram

(D) Suded @ | Uk W ATk
(E) vogemd & g =
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77.

78.

79.

80.

If Ais any set of n elements, the number of all
subsets of set A are

(A) n?
B 2"
(©) 2n
(D) More than one of the above

None of the above

E)

If o+ B =, then value of (cosa +isina)

(cos S+isin B) is

A) 0

® 1

<€ -1

(D) More than one of the above

None of the above

(E)

IfR is the set of real numbers and a mapping

f:R—>Rdefineasf(x)=2x+1, VxeR,
then fis

(A) Many one and onto

(B) One-one and onto

(C) One-one and into

(D) More than one of the above
(E) None ofthe above

If R is the set of real numbers and a mapping

f:R—>Rdefincas f(x)=x—-2, VxeR,
then which elements satisfies the above relation

A) 2

B) (8,6)

© 5,3)

(D) More than one of the above
(E) None ofthe above
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81.

82.

83.

84.

The sum of two roots of a quadratic equation
in 5 and product is 6, then the equation will
be

(A) x2-5x+6=0
B) 2+5x-6=0
(C) x2—6x+5=0
(D) More than one of the above

None of the above

E)

If a +ib is a one root of a polynomial f'(x),
then the value of f(a—ib) will be

(A) a-ib

B) a

<€ b

(D) More than one of the above
(E) None ofthe above

The quadratic equation whose roots are

inverse of roots of equation x> —2x+3 =0,
willbe

(A) 2x2-3x+1=0

B) 6x*+4x+2=0

(C) 3x*+2x+1=0

(D) More than one of the above
(E) None ofthe above

Number of positive roots of polynomial
B -3x2+x-3=0,is

(A) Atmost 3 positive roots

(B) Atmost 2 positive roots

(C) Allcomplex roots

(D) More than one of the above
(E) None ofthe above
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77.

78.

79.

80.

afg At n TETat aTen AT ¢ a9 IHeh a8
SuTgTeE e gt

(A) n

(B) 2"

(©) 2n

(D) Suder H | Tk & sifereh

(E) swfmdaweTd

Ao+ B =mn,q@

(cosa +isina)(cos f+isin f) wawEm
A) 0

B) 1

© -1

(D) 3Sugeati A Uk @ 3w

(E) Sudwda e

afe R T arEfeeh HEAsH w Tgeed @ ae
fiR>R,f(x)=2x+1, Vx € R A uifua 2
@R~

(A) =R AT=DEH

(B) UkHRI e

(C) ket sradt

(D) voded @ @ o

(E) Sudwda e

gfa R arafass gemsii mag=a g, f: R > R
faysraf@ 2, f(x) =x -2, VxeR,
e # @ wiw wn Frereu sugeR 2m

A) 4.2)

B) 8.,6)

©) 5,3)

D) Toder i & vk @ it
(E) oo @ g =
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81.

82.

83.

84.

feret =t wefieRtut 3 < el B AR S AT IUE 6
T SHhT AHIHIT 2T

(A) x*-5x+6=0
B) X+5x-6=0
(C) x*—6x+5=0
(D) Suge o A T A ferh
B) Todwda B

afe a + ib Rl sgue £ (x) T H R A f (a — ib)
HHE M

(A)
B) a

© b

(D) sugfer & 4 o & aifern
(B) oo & =g T

a—ib

39 ot \ieRtuT <Rt T <hifste, foreeh wet wieton
x?—2x+3=0%geil % R § -

(A) 2x*-3x+1=0

(B) 6x*+4x+2=0

(C) 3x2-2x+1=0

(D) Suder # @ Th & afrh

(F) swdwwdawgd

TG x> — 3% + x — 3 = 0 o SAH A gRl
(A)
(B)
(©)
D)
(E)

ATereR W SAfereR 3 eATeHeh 9o
arferen © 31fareR 2 enTereR g
ash wfus qe

U | § T | 1R
TG o A IS T
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8S.

86.

87.

88.

Solution of congruence relation 2x =1
(mod 7) is

(A) 4
B 2
© 1
(D)
E)

More than one of the above

None of the above

If[-] represents greatest integer function then
the value of [5-7] +[3-2] is

A) 9
B) 10
© 8
(D)
()

More than one of the above

None of the above

The greatest common divisor of

f(x)=x*-12x* +47x~60 and
g(x)=x*=5x+6,willbe

(A)
(B)
©)
(D)
E)

x—1
x—2
x—3
More than one of the above

None of the above

If“a” is divided by “p”’ then remainder is 5.
If a? is divided by “p” then remainder will be

(A) 5

B) 25

(C) 125

(D) More than one of the above
(E)

None of the above
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89.

90.

91.

92.

Two numbers are in the ratio 2:3, if the product
of LCM and HCF is 294, then the numbers
will be

A) 2,3
B) 14,21
(€) 10,15
D)
(E)

More than one of the above

None of the above

Which of the following is a set
(A)
B)
©)
D)
E)

Set of Vowels in alphabets
Collection of months in a year

Set of natural numbers less than 10
More than one of the above

None of the above

If A and B are two non empty sets then which
option is correct

(A) A-B=AN(B")
B) A-B=Bn(A"%)
©)
D)
(E)

A-B=(ANB)°
More than one of the above

None of the above

IfA={1,2,3} and B= {4, 5, 6} the maximum
number if possible functions from Ato B are

(A) 3
B) 6
(C) 27
D)
(E)

More than one of the above

None of the above

%ﬁ



8s.

86.

87.

88.

Tt wEe 2x =1(mod 7) wEe
A) 4

B) 2

©) 1

(D) Sudem @ U @ 3l

©) s

I [-] A YU Wl 1 TERi el § ad
[5-7] + [3-2] s aM g —

A 9

B) 10

© 38

(D) Sudaw | UF | Alew
(B)  3ofam o 9 ohrg e

f(x)=x3 —12x% +47x—60 @

g(x):x2 —5x 4 6 1 HEAH G WISTh 2

(A)
(B)
©
(D)
(E)

x—1

x—2

x=3

T i B T R o
IugeR H A B T

Tfg “a” @ “p> | ww T ST @ @ wwe 5
TR R AR o2 W “p” A am e S @ @
IIEA g

(A) 5

B) 25

(C) 125

(D) 3Suar ® | U W AfrR
(B)  3ofam o 9 ohrg
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89.

90.

91.

92,

3 TEed w1 U 2:3 B AU Ik oTgwH
AU 3R Hgad THIIER! 1 UH 294 2,
A wEEmn gl -

A) 2,3

(B) 14,21

(©) 10,15

(D) Swge A T Afern

(E) sudem @ g =

FrafeRea # @ = @ og=a= 2
(A) SIS FUTHTET | TRI 1 T
(B) uwad # wefi e o W=
(C) wrha@EAR S 10| FAE
(D) Sude @ U @ 3iferew

(E) vugemd & g =

If3 A aen B 18 31 stiea ageed 2 dl s A
fercu T @

(A) A-B=An(B)

B) A-B=Bn(A%)

(C) A-B=(ANnB)°
(D) Iwdem & 8 T @ ot
(B) Suger # & hig

AR A={1,2,3}anB={4,5,6 7 A¥B
qeh A TEATTE Wt <hl 9% grit

A) 3

B) 6

(C) 27

(D) vodfer i 8 v & aiferw
€) i awEd
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2y 96. Differentiation of x* with respect to x, is
. .oer =
93. Thevalueif limit

x—0 5x

(A)  x*(1+log, x)

A) 0

® 15 B) < (1-log,x)

(C) 2/5 © x>

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

i 1
logsin2x 97. Value of integral I_l sin® x-cos® x dx,is

94. The value of limit —— . is
x—0 logsinx

@A) 1 A) mw/2
B 2 B) n/4
© 4 © o

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above

T

. . . . L 2 I
95. Which one is not differentiable at point x=1, 98. The value of J‘ sin x dx . is
o Vsinx ++/cosx
(A) f(x)=|x—1 ,xeR
(A) mw/4
B) /()=[x].xeR ® e
©)  f(x)=1+(1-x"xeR © =

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) Noneoftheabove

[=]Z =]
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2x 96. X“H x % UL aHeH g

93. limit & wwmam
x—0 S5x
(A)  x*(1+log, x)
A) 0
®) 15 B)  x*(1-log, )
(C) 2/5 ©€)
(D) Suger H @ U A aferk (D) Sude i a T A s
(E) udemd A =g T (E) sudem i A =g 7
... logsin2 1.
94, limit logsinxx am 97. e [ sin® x-cos’ x dv FmamE
" 1 (A) /2
® 2 (B) n/4
© 4 (C) 0
D) T i @ o @ st (D) ST 0 @ e
. : Iuger | @ S TE
®) s dawid ®
95, FreaferRad # @ 1, x = | W sawera T8 N
AT Iw e 98. Wj SNY gy wwmd
0 sin x ++/cos x
(A) f(x):|x—1|,xeR
(A) /4
B) f(x)=[x],xeR
B) /2
© f(x):1+(1—x)%,xeR C) =
(D) Iode AT A Al (D) Suger & & U W siferh
(B) ude & & =g 7 (B) ude & & =g T

ElEE
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99. The value of _[\/l +sinx dx,is

(A) sin (Ej + cos (fj
2 2

B) 2(cos(x/2)-sin(x/2))

(C)  2(sin(x/2)—cos(x/2))

(D) More than one of the above

(E) None ofthe above

100. The area enclosed by the circle x> +y*> =16,

in the first quadrant is
A) =«

B) 2=

(©) 3mn

(D) More than one of the above

(E) None ofthe above

101. If x and y are any two real numbers, x > 0
there exists a positive integer n, then

Archimedean property is
(A) nx<y
B) nx>y
(C) nx=y

(D) More than one of the above

(E) None ofthe above
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102. Considerafunction f(x) ={x

3+3; x#0

1 ; x=0

then which is true?

(A)
B)
©
D)
()

f(x)1is continuous at x=0
f(x) is differentiable at x =0
Could not say about continuity
More than one of the above

None of the above

103. Which statement is not correct?

(A)

(B)

©)

(D)
E)

Every continuous function is
differentiable

Every differentiable function is
continuous

Every polynomial is continuous function
for real number

More than one of the above

None of the above

104. Which option is not correct?

(A)

(B)

©)

(D)
E)

Every bounded above set exists its
suprimum

Every bounded below set exists its
nfimum

Every bounded set exist its suprimum
and infimum

More than one of the above

None of the above

%ﬁ



99. wHIHA jx/l+sinx dx ®UE g

(A)

(B)

©

(D)
(E)

()

2(cos(x/2)—sin(x/2))
2(sin(x/2)—cos(x/2))

S i 8 T A TR
I A g T

100. =9 x> + y> = 16 g/ 9w =gein § sl
&EA

(A)
(B)
(©)
(D)
(E)

n
2n

3n

o i T R o
o A

101. =f2 x 3iR y I 3 GTeHes AN 2 aen x > 0, aa
SATeh TS WUT o STTHR Ueh YUTieh 72 39 TR 2

E3

(A)
(B)
(©)
(D)
(E)

nx<y
nx>y

nx=y

S 1 @ U @
Iue | A IS TE
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102. wem f(x):{x

x#0

3 .
3 , aa fm o

1 ;o x=0

S o fereu T @

(A) f(x),x=0WRTdag

B) f(x), x =0T sTEwHeE 3

©
(D)

(E)

i1 o foT0 gl &l < Tehel
Iuger | ° U A it

Iogert & e T

103. f=ifera = |1 e e g

(A)
(B)
©
(D)
(E)

Teieh Teid e, STaehera §

TIeh ST e dad 8

Tt g et T e 2
e i 8 T A
Tuge ¥ § R T

104. ST FLAAATE &

(A)

(B)

(©)

(D)
(E)

T 3UR UNarg Tgeerd o foru uek sk
o e g @

e i uftag weed o fore ueh fmeh
o e g g

TAF UReg AT & foru 3= i
e @ sl a2

Suefer A U A T
Iuger H A S TE
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105. Ord dd f the Equati
raer and degtee o © bduation 108. General solution of equation ¥ = px+ pz,

1
%:(%j3+% S wherePZ%;iS
A) @1 (A) y=cx+2c
®) (,2) B) y=extc
© 23 (C) y=x’+c
(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

106. What is the equation of a curve passes through

-2,3), gi that the sl fthet tt . . d
(72.3), given that the slope of the tangent to 109. The particular solution of —y=—4xy2,

2% dx
the curve at any point (x, y) is ? ? given that y(0)=1; is

(A) ) =3x2 +15 @ (227 +1)y=1

B) y?=3x’+5 (B) (2y2+l)x:1

©) x*+y*=25
d © 24297 =1
(D) More than one of the above

(E) N fthe ab (D) More than one of the above
one of the above

(E) None ofthe above

107. Solution of the differential equation

dy y 5 . 110. How many arbitrary constant are there in the

T x 2x7,1s general solution of the differential equation of
order three (3)?

(A) y= x2 +c A 1

B) y=x+c B) 2

©) y=x+ex © 3

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None of the above

[=]Z =]
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! d
d_zy_(dngJr & w 108. aﬁp=—iwmmy=px+p2

105. srarehel GHieROT —- = | —— d
dx dx FETE AL
< 1083 1 i d
(A) y=cx+2c
@A) 2, 1)
®) (3,2) B) y=cx+c?
©) (2,3 C) y=x*+c
(D) e ¥ @ T @ AU (D) 3ude AT A Al
(B)  Sugert # & i (B) Suga & i

106. 39 =5k 1 TN AT RIRTU A (-2, 3) A g dy 2. _
e e e g (1, ) W v oy 100 ST = g% p(0) =1 Hfem

2x oo 2
2 2-

@ (2+1)y=1
(A) P =3x2+15

2 —
B) 32 =3x045 ® (27 +1)r=t

©) x*+y*=25 ©) x2+2y%=1
(D) 37 # @ T W s (D) Iuder H A T A itk
®) AR €) T
107. Wm%%:z’cz wEE 110. R 3 % s wwie 3 = 7 i @
IR < oA g
(A y=x’+c @ 1
(B) y=x+c B 2
©) y=x+ex (C) 3
(D) 3uge d 8 T A st (D) vude & & U A s
(E)  sugem s & g T ) i e

ElEE
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111. The locus of solution of differential equation

: 115. Minimum value of f (x)=|x—-3| attains at
xdx—ydy =0, represents a family of

the point
(A) Ellipse A) x=1
(B) Hyperbola B) x=2
(C) Parabola (C) x=3
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

112. Solution of differential equation xdy + ydx=0 116. Maximum value of f(x) =3x*+4x> 12>+ 12,

is a curve, which is symmetric with respect to 1S

(A) x=0 A) 19
B) y=0 B) 12
C) y=x (©) 09

(D) More than one of the above
(E) None ofthe above

(D) More than one of the above
(E) None ofthe above

113. The area included between the parabola 117. The value Of,[ logx dx,is

»?=4x and x* =4y is N

@) 163 B) x(logx+1)x+c

B) 15/4

(C) 873 © x(logx—l)+c

(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

114. The nature of function f(x)=sin3x, in 118. Valueof (1 +i)*is

[0, /6] is A 4

(A) Decreasing B) 4,7

(B) Increasing )
©) _4¢%

(C) Neither decreasing nor increasing

(D) More than one of the above (D) Morethan one of the above

(E) None ofthe above (E) None ofthe above

[=]Z =]
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111.

112.

113.

114.

FHA FHIE xdx — ydy = 0 % g ot ferg a
2

(A) i

(B) atfooree™

(C) waem

(D) Suge H A T A ferh
() SwdwAa®E T

eTehel THIERT xdy + ydx = () 1 gt Tufea 2
(A) x=0%=ama

(B) y=0%uma

(C) y=x¥ume

(D) Sudw ¥ | Uk A e

(E) oo @ g =

umwy2=4xaa1x2=4yﬁaﬁr&aaiam
2

(A)
(B)
©)
(D)
(E)

16/3
15/4
8/3

S i 8 T A TR
I A g T

®eM f(x) = sin 3x, S IH s [0, /6]
H3
(A)
B)
©)
D)
(E)

ed wu d

Fgd sHA |

T ged hA | 31 7 € Tgd sFA A
I § | T | S
TR H A A T
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115.

116.

117.

118.

oot f(x) =|x—3|, v fre g woomw
Lk
(A)
(B)
©)
D)
(E)

x=1

x=2

x=3

S 1 A U @ i
I | A R T

HeH f(x) = 3x* + 4x° —12x% + 12 %1 Hgd °H
2

(A)
(B)
©)
(D)
(E)

19
12
09

Suefer A U A T
Iuger H A S TE

Ilogx dx ®1aA g
(A) X' +¢
B)

x(logx+1)x+c

(€) x(logx—1)+c

(D) S & o @ ifer
(E) suge @ g a8

(1+i)* wamg

(A —4
(B)
(©)

(D) v @ o R o
(E) Sudem @ & g &

%ﬁ
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119.

120.

121.

Argument of i is
(A) m/4
B) m/2

<O =n

More than one of the above

(D)

None of the above

(E)

Modulus of a + 3iis 5, then the value of a
will be

A) 4

B) —4

© 2

(D) More than one of the above

(E) None ofthe above

Valueof 1 +23+33+.......... +nd, is

(A)

n(n+1)/2

B) n(n+1)(n+2)/6

(C) n(n+1)(2n+1)/6

More than one of the above

(D)

None of the above

E)
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122.

123.

124.

The principle value of i’, is

B)
© 1
More than one of the above

D)
()

None of the above

If A’ is set of all limit points of aset Aand A
is closure of A, then which option is correct

(A) A=AUA’
B) A=ANA’
©) A=A"UA

(D) More than one of the above

None of the above

(E)

Ifx € (a, b], then which option is correct

(A) a<x<b
B) a<x<bh
©) a<x<bh

(D) More than one of the above

(E) None ofthe above

%ﬁ



119. i =ehome: 2
(A) 7/4

B) mw/2

© =
(D) o & T ferw

(E) o @

120. @+ 3i s HMEER 5 g, @ ¢ T/ HA T
A) 4

(B) 4

C) 2
(D) v & o & e

(E) suge @ g a8

121, 13+23+33+ ... + 0w A g
(A) n(n+1)/2
B) n(n+1)(n+2)/6
(©) n(n+1)(2n+1)/6

(D) v @ o R o

(E) suge @8
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122. i ametas ame

(D) o i & T & e
(E) 3ugs @ s a8

123. afe A' oqgeaa A & |t fagaii e g qem A,

AwmAE g

(A)  A=AUA’

B)  A=AnA

©) A=A'UA

(D) e A T A R
() Swdwda®E

124. afex e (a, b] 7@ ® o forehen T 2

(A) a<x<b

(D) o i & T e
(E) 3ugs @ s T8
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125. Which oneis null set

(A)
(B)
©
(D)
E)

126.
(A)
(B)
©
(D)
(E)

127.

More than one of the above

None of the above

The set [-1, 1]— {0} isequal to

[-1,0]u[0,1]
(1,00 (0, 1)
[-1,0)u (0, 1]
More than one of the above

None of the above

Which of the following is unit vector along

3j+ 4k

(A)

(B)

©)
(D)
(E)

1
—(3j+4k
5 (37 +4k)

1
~(3j+4k
7(J+ )

i+j+k
More than one of the above

None of the above
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128.

129.

130.

For what value of "a" vectors 2i —j + k,
i —3j— 5k and 3i — 4j + ak are coplaner

(A) 4
B) —4

©) 5

More than one of the above

D)
()

None of the above

If position vectors of two points A and B are
i+2j—kand—i+j+ krespectively. Point Q
divides line AB externally in ratio 2 : 1,
then position vector of the point Q is

(A) —-3i+3k
B)
©)
D)

(E)

—-3j + 3k
3i—-3j-3k
More than one of the above

None of the above

If G+b+c=06 and |c7|=3, E‘zSand

|E | =7, then the angle between a and b is
(A n

B) =w/2
©)
D)

(E)

/3
More than one of the above

None of the above

%%%



125. fr= % 9 A o e ageea @

(A)
(B)
©
(D)
(E)

{}
{0}
{a}
S & A T @ o

Iuger H A S TE

126. wge=a [-1,1]— {0} gea @

(A)
(B)
(©)
(D)
(E)

127. @few 3j + 4k < fegn o = @ vehies Afew 2

(A)

(B)

(©
(D)
(E)

[-1,0] U [0, 1]
(-1,0)u(0,1)
[-1,0)w (0, 1]
e 8 4 0 & it

Ioert A e T

1
—(37+4k
5(3/+4k)

1
—(3j+4k
S (37+4k)

i+j+k
Sude | § U W Al

Ioert A e T
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128.

129.

130.

afew 2i —j + k, i —3j — Skam 3i —4j + ak
T & A ¢ T HH B

(A) 4

B) -4

©€) 5

(D) vodam i @ w @ st

(E) vogemd & g =

fag A @en B & feurfa wfqw @ + 2/ — &k @en
—i+j+k2, &g Q W AB it amgran 2:1 9
forwfom s 2, at Q = et afew g

(A) -3i+3k

B) -3j+3k

(C) 3i-3j-3k

(D) Suge ¥ @ U @ 3iferw
(B)  3ofam o @ ohrg



131.

132.

133.

Ifd@=5i—j—3k and b =i+3j—5k, then

and a —b are

SNy

+

Ql

(A)
B)
©
(D)
E)

Parallel

Perpendicular

Inclined with 45°

More than one of the above

None of the above

If Angular points of a triangle isA(1, 1, 1),
B(1, 2, 3) and C(2, 3, 1), then area of

triangle in square unit is

@A) V21

®  Ji1/2

© 21/2

(D) More than one of the above
(E) None ofthe above

The equation of the line which passes through
the point (1, 2, 3) and parallel to vector
3i+2j—-2k,is

(A)  F=i+2j+3k+A(3i+2/-2k), 1eR

(B) 7=3i+2j-2k+A(i+2j+3k), 1eR

(C) F=6i+A(3i+2j-2k),AeR

More than one of the above

(D)
E)

None of the above
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134.

13S.

136.

For what value of “a” the lines
x—5_y+2_£ d x_y_z
7 a 1 M 3 ¢
perpendicular
A -5
B 35
€ 4
(D) More than one of the above
(E) None ofthe above

The region formed by constraints
Sx+y<100,x+y<60andx>0,y>01is

(A) infeasible
(B) feasible
©)
D)

E)

not confirm
More than one of the above

None of the above

The value of Maximize Z = 4x + y
subjected to conditions x+y <50, 3x+y <90,
x>0,y>0,1s

(A) 40

(B) 80

©
(D)
E)

120
More than one of the above

None of the above

%ﬁ



131. afe @G=5i—j—3k aen b=i+3j -5k @&

132.

133.

G+b 3 a—bam

B)
(C) 45°mgh

(D) wwdom il & T & arfer
(B) ude & & =g T

et Brym & Wit R A1, 1, 1), B(1,2,3)
A C(2, 3, 1) 2, 7@ frget o1 gt ot gemrs
?

A) 21
Ji1/2

© 21/2
(D) v @ @ s
(B) Sogad & =g i

(B)

36 T T w1, 2, 3) AR
2 e afw 3 + 2 — 2k % AEHIR #

(A)  F=i+2j+3k+A(3i+2j-2k), 1eR

B) F=3i+2j-2k+A(i+2j+3k), 1eR

(C) F=6i+A(3i+2/-2k),AeR

(D) o i & T & e
(E) 3uge @ s T8
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134.

135.

136.

x—5 +2
“a”ﬁa%am%ﬁf%m—7 =—ya =%aen

2V ?
12 3 e

A) -5
B) 5
C) 4
D) i & v A il

(E) o @

aneaat 5x + y < 100, x + y < 60 3R x > 0,
y>0gmanang

FeTaEE
A (W)
Fifvoa =&

(A)
B)
©)
(D) Iwde A Tw A e
(E) o @ g &

sifereRan Z = 4x + y 1 |/E =eEr x + y < 50,
3x+y<90,x>0,y>0mg

(A) 40
(B)
(©)
(D)

(E)

80

120
Sude 4 | Uk W e
Suder U | g TEl

%ﬁ

[P.T.O.



137.

138.

139.

140.

The optimal value of the objective function is
attained at the point

(A)
B)
©)
(D)
E)

In-side the feasible region
Centre of the feasible region
Out side of the feasible region
More than one of the above

None of the above

Solution by simplex method is given by
(A) GB.Dantzig
(B) L.Katorovich
©)
D)
(E)

T.C. Koopmans
More than one of the above

None of the above

The objective function of linear programming
problem is

(A)
(B)
©

A function to be maximize
A function to be minimize

A function to be neither maximize nor

More than one of the above

(D)
E)

None of the above

Which of the following set is convex

(A) {(x,y) :x? +y2 > 1}

®) |(nr):r2x]

©) {(xy):y=z2,y<4)

(D)
E)

More than one of the above

None of the above
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141.

142.

143.

144.

If A and B are two events such that
P(A)=-6,P(B)=-3, P(AnB) =2, then
P(A/B)is
(A 112
B) 273
C© 173
D)
E)

More than one of the above

None of the above

A pair of dice is thrown then the probability
of getting 7 as the sum, is

(A) 1/6
B) 5/6
€) 1
D)
(E)

More than one of the above

None of the above

The probability that a leap year will have 53
fridays, is

(A) 17
B) 2/7
(C) 3/7
D)
(E)

More than one of the above

None of the above

The number of permutations of the letters of
the word ALLAHABAD, is

(A) 5400
(B) 4500
(C) 7560
D)
(E)

More than one of the above

None of the above

%@%



137. 3299 %ot o1 3EaH W foRM fomg W ST g 8

(A) o &= % TR
(B) o= 8 Fg W
(C) =oagHE & o T
(D) Suge H A T A ferh
(E) Sugerd & =g T

138. faruciera fafe feradhiea @
NI =
(B) T W=
(C) A Fudw
(D) Suge A T A ferh
(E) Sugder & =ig T

139. Raer T TwE # 3EaH e gt @

(A) T vgaa S g g
(B)  orerhl =[am <1 g @

(C) Tororent 3 Ot wgww 7 dt =Idad AT gl

(D) v @ o R o
(E) Sudem® & g &

140. & o1 Y= I aYa 8
(A) {(x,y)  x? +y2 > 1}
B) {(x,y):y2 Zx}

©) {(xy):yz2,y<4}
(D) ude ¥ | Uk A JAfereh
(B)  Sugert # & i
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141. af A sin B #1¢ 3 wem 2 w@i P(A) = .6,

142.

143.

144.

P(B)=.3, PANB)=-2,7@P(A/B)?
(A) 12

B) 23

C) 173

(D) Suge A TH A ferh

(E) Sudwda e

3 UTE St T EY W Yreh ST 8, T TR AT 7
A B TifereRar @

(A) 1/6
B) 5/6

<€ 1

D) e i & v A il
(B) SwmAARE T

Tk SAferad § 53 YRR 21 <Rt wferehar 8
(A) 1/7

B) 2/7

(C) 3/7

(D) Sudw ¥ | Uk A e

(E) vogemd & g =

ALLAHABAD =2 % 31eri fereat Terr & feran
HEHATE

(A) 5400
(B) 4500

(C) 7560

D) wja i & v A il
(B) 3uger ¥ & =g T

%ﬁ [P.T.O.



145. If A and B are events such that 148. Ifaverage of 10 entries is 50, if we reduces
each entry by 5, then new mean will be
A/ \-p(B ’
P(%5)=P(Y4). then

(A) 55
(A) AcB
B) 50
(B) P(A)=P(B)
© P(A)<P(B) © %
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

146. A group consists of 8 girls and 7 boys. In
how many ways can a team of 4 members be
selected if team has no girls.

149. Which of'the following option is correct?

(A) Mean—Mode =3 (Mean — Median)

(A) 35

(B) 3 Median =Mode + 2 Mean
B) 25
©) 15 (C) Mean—Mode =Median
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

147. There are 6 boys and 3 girls and they are

. . . _ 6
sitting on a circular table, in how many ways 150. The coefficient of x°in expansion of (2x—3)

they can sit with no restrictions, s
@) |9 A 8
16
®) 8 (B)
(C) o4
© [z

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above (E) None ofthe above

[=]Z =]
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145. afg A st B Ui @ w13 e 2 f&

146.

147.

P(%5)=P(Y4) =
®
®)
©
o)
®

AcB
P(A)=P(B)
P(A)<P(B)

T i B T R o
Iuger § A R T

Uk OUg U § weferal 3R 7 wgh 2| fhad yehr @
Ueh $1H TTeA Teran o1t wehan @ w4 weem 71, 3R
36 U i gt @

(A) 35
(B)
©)
(D) wodam & & ol

(E) Iwgwd@ g

25

15

6 TR 3R 3 erefral et 2ot W fehe e &
ST T Hehell ¢, Falfeh ehig Srdael 1 gl

@ 19

®) |8

© Iz

(D) vodem i @ U & arfers
() SwdwAa®E
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148.

149.

150.

10 wfafe=i s mem 50 3 afe @ afaf@ @ @ 5
e fean s i == wea g

(A) 55
B) 50
(C) 45
(D) Sugw ¥ @ U & e
(E)  3ofam o @ g T
Fraforitaa @ & o1 fosrea vt 8

(A) wem - ageTen = 3 (Wiea — wifee)
(B) 3 wifSa = agereh + 2 WeA
(C) wnem — SgeTeh = ARt
(D) Iwde A TH A Al

(E) suge @ g a8

(2x — 3)0 o TR T X0 <1 TUTIH
A) 8

B) 16

(C) 64

(D) Iwde A TH A e

(E) o a g

%ﬁ

[P.T.O.



SPACE FOR ROUGH WORK /T & & feTu T2

[=]Z =]
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SPACE FOR ROUGH WORK /& & & fotu T

(=] [m]
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13/HV/M-2024-13 e si@en

T -gfecret
WIET, | 3ETTH 3R T

(20w )

gl % IR 37 W UgA 9 for@ argavh wi g | ug |

10.

11.

12.

WETIYUT 3T

g agA-yftaswt 7 i # fawfia @ - wm-|, wm-11 w@ am-11], wm-| | s (edar) & uea €, wm-| |
AT REqA & U9a ¢ aon wi-| 1| # wftra & wea €

wrr-|, wrer (erdar) # wow wwar 1@ 30 a% wea 21 ww-| # sfisht W | wew www E-1 @ E-8 ww (Wt %
fom wmm), fedt W @ wom e H-9 & H-30 @, 3¢ st & woat w@ean U-9 & U-30 o aen aiven Wit |
uwa wea B-9 @ B-30 aw § (erwaefi @t @i wwiat # & Reeh w W & www g4 €)1 W= | § www w@ean 31@ 70
qen ww-1 || ® wya @@ 71 | 150 @ 21 (wwr-1| qen wm-l 1| § uvq ok 37 3w sish va &t ® giga ¥)
|t avAl w1 3w wEE )

Tyl & ST A F AU enuwRl I ume uvA yftaswt & ot femn man 21 o SR we & fRuife wam d st
FFAiE @ @ geag &1 aur 3w fyarw sava fad sy TUmT SR wEe wiwnr g WA
Titgn Sew @R @ AU S yv-gftae @ Wend I qfeaswt i e Y 3w o fR ae-yfeast & Iw
Tl o qfgm guen @ sw yfeawt W qfgm goen wam 31 o 9 o wiw & 6 gftew § w & @ g
3t 9l (4B ®. 46 aiv 47) wfga q¥ 48 qfgm gz § aitv %19 wva a1 yz fam swr gan @ wer gan
ar QAm AT gan a1 vy Yfeaswt vd s qitewt d qfga sjuen @ sem @t adf R) gfeaw wE W sw
gftawt # frdt yer N gfe TR R aTETE WE agA FH guen 1 gEH q@ gawr /@ &)

34 U8 & W Fgifa wom § s sgwais srava fod | ywa-gftast w sk g9 7 g

e U9 & | S - (A), (B), (C), (D) @it (E) %u W fad m2 €1 376 | 314 T WE haAe Tk ST Kl g SR
TR IR UAE W IHfRA H| HTAHT FeA TTHIH TYh GRI IR UH | 3ifeha Tt 3wa W Fsiw |

T I § T T Hen d R g e s mER i gui - A), (B), (©), (D) R (B) 1w % 3w 3 6 v st
AU UHG T HAA Th I kI Hel/Helt T F SiA-uise 99 | fafEa w21 y@w uva & fou Fae s s w®
T 3 IV U IR U # Fafga H) o9 SR U | afg v uva & fore v @ sifes g | fom o €, @ stueet
IR AT AET AR I 99E # IR B e F0 & fou daw s/l @l & aia-dize 97 w1 @
yain &I fedt Wt aER ®1 FE-FH2 Agar yREdd arw T@fl )

gfe forft uga @ fopeht wwr 1 w1 ggur T qaTenw TwR fY I A, @ gl F S awn TR wurad § @ sish
FUTR 1 AFS AET JET |

TyA-YfTaeht | HIE U1 BISAT AT ST HIAT 7T 2| TG fEaaht 31X 3T u=eh i udien srafd # udien wa= | argt way
T @ W wlign & AEGE W IW U9F AYE w1 Aq W9 d| SHF 918 AU HUA UvA-giEaswn swa e @
W & argafa 21

FW F SN A | forelt v w1 +ft uter TE FW W 3 W A F FAETER wRarg i S TRt 8 SUan st g
fa=n w1 " )

sreaeff 3T e W eroHt sufrufa @ Self Adhesive LDPE Bag @ gft aig @ e /et ®iam & 3udia g udien wat
& BIS|
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Note : English version of the instructionsis printed on the First Page of this Booklet.
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